1. What is the Least Common Multiple of (LCM) of 2 and 3?
A.
B.

o



You are right! Go to next.



You are wrong! Try again.



2. What is Least Common Multiple of (LCM)of 6 and 9?
A. 36
B. 18



You are right! Go to next.



You are wrong! Try again.



3. What is the Least Common Multiple (LCM) of 10 and 12°?
A. 120
B. 60



You are right! Go to next.



You are wrong! Try again.



4. What is the Least Common Multiple of (LCM) of 9 and 12?
A. 36
B. 60



You are right! Go to next.



You are wrong! Try again.



5. What is the Least Common Multiple of (LCM) of 8 and 12?
A 24
B. 48



You are right!



You are wrong! Try again.



